Anon\{ Moy Broadavang (s

T =

b.,,ia,, hoob
o ®
@ J/“// /\/
b2.7bJ..v > T

1.6 P cpsgsa random (seckb)loit b.ey13. @€ C
1® 0

W)

0
4

2. Each ¥, wl«u‘sFers HYe wlve of b; Ls @41)m,d3
: Ot
3. Each ¥; @O"*P‘“L"S L= be’ * b@'-:.)ma‘s. 101

l]

 Eachn T Comples £ hive.
L= St it B didnot deak he sk

~Luopl (€ ?( did dralk e wLItSk}' e
A~ H, pobedy drnk He sy
6. E&)c(/r ?; SAN0UA(ES éc/\’ g 2-/ “Eg‘v 6( Q)/ bail c'éZO,l,zg
6. Eal /mﬁ” lorpues €0 00 6 fof 6L = hobohebebaeh
: -
F\i_ SOMbboc(a drun UWSK&)
fj:(’s'é:@tt same @ 1 = 1~




/
Sample Spee: Non- emply combble 2F (S)
E)?M{S OF S eré ('l (06{ ou'{‘(ows ((_/Qw,’—(a,), emes>
e S

(O’Q‘Jo«‘ll Fu/lclw /PP 8_9[0 1.1 Such thet Zﬁ‘(w\) 5 (?RJ@H Concton over S>

(S, %) 3 Vrobshiliky spe.

Examples Cou foss  S=5413.  Pr(H)=Pr(T) = 1/2.
Eample: Toss A coms S={HH, WT, TH, 77§ T (=P (un) = Pr(TH)~ gl
Example Koll o Gstted die 9:212 3Y.S é?S B (D-Prl2)- o
Uwcd/w Probsb. &7 Srace s ?r[w) = (—)or each wéS.
Example: Roll & (-stded dice:
<= 20@ G130, §b3§ Ylo) = l _3—'&5 iz sy Db
\

Fo/ cach Kef2,34 56,432 10,0128 . let AL’ e o e two die s K"

Aq ‘/%(1737; (2,2),(3 1—7} - BA )= e (le) < Vcz) « PG, 1)) =+ et l-

-7

A

WES
Er‘%r any ewat A, B =) Bw).
WEA



lolack

oie -

PrlAy) = =
Pf(A3> = ’;‘é » ":‘é
Pr(Ay) = ‘3%; . T\i
/\)((AQ - ‘%’é -
i) =

e
T M e

.
?F(AQ’?@

TrAq) = 4/36 -
(Ao = 3(%
DA = 236

P
Wl - 5



T 4 BES anl A and B are dcs‘lo\mi—(\.

e Tr(AUB)= L) st ger T <R (B
WeAUB  wEA
P

\,___J

Ip AL\--‘An aré chfwlw A.LY‘(‘O\/C(' M‘(S “‘&Q/\
‘/\)fCALUA,_U\...uﬂ‘A): AZ‘&(AL) (SWW Kule
(=1

Pr{sum of twodie is even) = PrA, VAU AV AsJ AU A\Q
= Pe(A) + BrOA) « BAD A BA) < TA,) < BrA)

= __.1‘/- gy t e . 7 —+ o e
2@ 2 e 36 e 26 .
- e
ol T
e L e e : %
2 <4 A:LH—' (S Qken
523G} ¢ GjesLnels. )

A'o 5 el j s betls evon \Ab\ —'\%Gn D : [(]'622,‘{,6%%\ o

Pe 00 :?((AoUAj_) Aj:, rraA j ane hotk odd \Ag,l‘ l%(j@: i,)ézl,'}.fsg \ -1

=Prlho) <V (AL) .

:,_A.“_ LA:L__—E(-— "——sLL
26 %o 00 36 0




